
33.5 The RLC series circuit

In the previous sections we considered individual elements connected to 

an AC source. Here, we will adopt a circuit that contains a combination 

of circuit elements: a resistor, an indicator, and a capacitor.

The instantaneous applied voltage is

                        Vv =∆

The current also varies as

                       sin(Ii max=

Where φ is some phase angle between the current and the applied voltage.
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Exercise: 

Based on the phase angle in eq. (33.13) discus the following situations: 

1- When CL XX >  

2- When CL XX <  

3- When CL XX =  


